

SOME INTEGRAL INEQUALITIES FOR TWICE DIFFERENTIABLE FUNCTIONS

ERHAN SET, ABDURRAHMAN GÖZPINAR, AND İMDAT İŞCAN

ABSTRACT. In this paper a general integral identity for twice differentiable convex functions is derived. We establish some new Hermite Hadamard's type inequalities for functions whose absolute values of derivatives are convex.

1. INTRODUCTION

Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a convex function defined on the interval I of real numbers; i.e

$$f(tx + (1-t)y) \leq tf(x) + (1-t)f(y)$$

for all $x, y \in I$ and $t \in [0, 1]$. Lots of results associated with convex functions can found in the literature. The following classical double inequality;

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x)dx \leq \frac{f(a)+f(b)}{2} \quad (1)$$

is well known in the literature as Hermite-Hadamard's inequality for convex functions. Both inequalities hold in reversed direction if f is concave. Since its discovery in 1983, Hermite-Hadamard's inequality [9] has been considered the most useful inequality in mathematical analysis. A number of the papers has been written on this inequality, providing new proofs, noteworthy extensions, generalizations and numerous applications. See ([1]-[15]) and references therein.

In [6] Dragomir proved the following lemma for twice differentiable functions.

Lemma 1. $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a twice differentiable mapping on I° with f'' integrable on $[a, b] \subset I^\circ$. Then we have the identity:

$$\frac{1}{2} \int_a^b (x-a)(b-x) f''(x) dx = \frac{(b-a)}{2} (f(a) + f(b)) - \int_a^b f(x) dx \quad (2)$$

In [13] Sarıkaya and Aktan obtained the following results which are contained Hermite Hadamard type inequality using the above lemma.

Theorem 1. Let $I \subseteq \mathbb{R}$ be an open interval, $a, b \in I$ with $a < b$ and $f : I \rightarrow \mathbb{R}$ twice differentiable mapping such that f'' is integrable and $0 \leq \lambda \leq 1$. If $|f''|$ is a convex on $[a, b]$ then the following inequality holds;

2010 Mathematics Subject Classification. 26A51, 26D10, 26D15.

Key words and phrases. Convex function, Hermite Hadamard's inequality.

$$\leq \begin{cases} \left| (\lambda - 1) f\left(\frac{a+b}{2}\right) - \lambda \frac{f(a)+f(b)}{2} + \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \left\{ \begin{array}{l} \frac{(b-a)^2}{12} \left[\left(\lambda^4 + (1+\lambda) + (1-\lambda)^3 + \frac{5\lambda-3}{4} \right) |f''(a)| \right. \\ \quad \left. + \left(\lambda^4 + (2-\lambda) + \lambda^3 + \frac{1-3\lambda}{4} \right) |f''(b)| \right], & \text{for } 0 \leq \lambda \leq \frac{1}{2} \\ \frac{(b-a)^2(3\lambda-1)}{48} \left[|f''(a)| + |f''(b)| \right] & \text{for } \frac{1}{2} \leq \lambda \leq 1. \end{array} \right. \end{cases}$$

Proposition 1. (Trapezoid inequality) Under the assumptions Theorem 1 with $\lambda = 1$ in Theorem 1, we have;

$$\left| \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq \frac{(b-a)^2}{12} \left[\frac{|f''(a)| + |f''(b)|}{2} \right] \quad (3)$$

Theorem 2. Let $I \subseteq R$ be an open interval, $a, b \in I$ with $a < b$ and $f : I \rightarrow R$ twice differentiable mapping such that f'' is integrable and $0 \leq \lambda \leq 1$. If $|f''|^q$ is a convex on $[a, b]$, $q \geq 1$ then the following inequality hold:

$$\leq \begin{cases} \left| (\lambda - 1) f\left(\frac{a+b}{2}\right) - \lambda \frac{f(a)+f(b)}{2} + \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \left\{ \begin{array}{l} \frac{(b-a)^2}{2} \left(\frac{\lambda^3}{3} + \frac{1-3\lambda}{24} \right)^{1-\frac{1}{q}} \\ \quad \times \left\{ \begin{array}{l} \left(\left[\frac{\lambda^4}{6} + \frac{3-8\lambda}{3 \cdot 2^6} \right] |f''(a)|^q \right. \\ \quad \left. + \left[\frac{(2-\lambda)\lambda^3}{6} + \frac{5-16\lambda}{3 \cdot 2^6} \right] |f''(b)|^q \right)^{\frac{1}{q}} \\ \quad + \left(\left[\frac{1+\lambda}{6} (1-\lambda)^3 + \frac{48\lambda-27}{3 \cdot 2^6} \right] |f''(a)|^q \right. \\ \quad \left. + \left[\frac{\lambda^4}{6} + \frac{3-8\lambda}{3 \cdot 2^6} \right] |f''(b)|^q \right)^{\frac{1}{q}}, & \text{for } 0 \leq \lambda \leq \frac{1}{2} \\ \frac{(b-a)^2}{2} \left(\frac{3\lambda-1}{24} \right)^{1-\frac{1}{q}} \\ \quad \times \left\{ \begin{array}{l} \left(\frac{8\lambda-3}{3 \cdot 2^6} |f''(a)|^q + \frac{16\lambda-5}{3 \cdot 2^6} |f''(b)|^q \right)^{\frac{1}{q}} \\ \quad + \left(\frac{16\lambda-5}{3 \cdot 2^6} |f''(a)|^q + \frac{8\lambda-3}{3 \cdot 2^6} |f''(b)|^q \right)^{\frac{1}{q}}, & \text{for } \frac{1}{2} \leq \lambda \leq 1 \end{array} \right. \end{array} \right. \end{cases}$$

where $\frac{1}{p} + \frac{1}{q} = 1$.

Proposition 2. Under the assumptions Theorem 2 with $\lambda = 1$ in Theorem 2 then we get the "trapezoid inequality"

$$\begin{aligned} & \left| \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(x) dx \right| \quad (4) \\ & \leq \frac{(b-a)^2}{24} \left\{ \left[\frac{5}{16} |f''(a)|^q + \frac{11}{16} |f''(b)|^q \right]^{\frac{1}{q}} + \left[\frac{11}{16} |f''(a)|^q + \frac{5}{16} |f''(b)|^q \right]^{\frac{1}{q}} \right\} \end{aligned}$$

In this paper, we established some new results related to the right-hand side of Hermite - Hadamard type inequality for functions whose absolute values of second derivatives is convex on the interval $[a, b]$.

2. MAIN RESULTS

In order to prove our main theorems, we need the following Lemma.

Lemma 2. $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a twice differentiable mapping on I° such that $f'' \in L[a, b]$, where $a, b \in I$ with $a < b$ and $\alpha, \lambda \in [0, 1]$. Then we have the identity;

$$\begin{aligned} & \lambda [\alpha f(a) + (1 - \alpha) f(b)] + (1 - \lambda) [f(\alpha a + (1 - \alpha) b)] \\ & - (b - a) \left[\left(\lambda(1 - \alpha) - \frac{1}{2} \right) f'(b) + (1 - \alpha)(1 - \lambda) f'(\alpha a + (1 - \alpha) b) \right] \\ & - \frac{1}{b - a} \int_a^b f(x) dx \\ & = \frac{(b - a)^2}{2} \left\{ \int_0^{1-\alpha} t(2\alpha\lambda - t) f''(tb + (1 - t)a) dt \right. \\ & \quad \left. + \int_{1-\alpha}^1 t[2(1 - \lambda(1 - \alpha)) - t] f''(tb + (1 - t)a) dt \right\} \end{aligned} \quad (5)$$

Proof. We note that;

$$\begin{aligned} I &= \int_0^{1-\alpha} t(2\alpha\lambda - t) f''(tb + (1 - t)a) dt \\ & \quad + \int_{1-\alpha}^1 t[2(1 - \lambda(1 - \alpha)) - t] f''(tb + (1 - t)a) dt \end{aligned}$$

Integrating by parts, we get;

$$\begin{aligned} I &= \frac{t(2\alpha\lambda - t) f'(tb + (1 - t)a)}{b - a} \Big|_0^{1-\alpha} - \frac{2}{b - a} \int_0^{1-\alpha} (\alpha\lambda - t) f'(tb + (1 - t)a) dt \\ & \quad + \frac{t[2(1 - \lambda(1 - \alpha)) - t] f'(tb + (1 - t)a)}{b - a} \Big|_{1-\alpha}^1 \\ & \quad - \frac{2}{b - a} \int_{1-\alpha}^1 [(1 - \lambda(1 - \alpha)) - t] f'(tb + (1 - t)a) dt \\ &= \frac{(1 - 2\lambda(1 - \alpha)) f'(b) - 2(1 - \alpha)(1 - \lambda) f'(\alpha a + (1 - \alpha) b)}{b - a} \\ & \quad - \frac{2}{b - a} \left[\int_0^{1-\alpha} (\alpha\lambda - t) f'(tb + (1 - t)a) dt \right. \\ & \quad \left. + \int_{1-\alpha}^1 [(1 - \lambda(1 - \alpha)) - t] f'(tb + (1 - t)a) dt \right]. \end{aligned}$$

Again in a same way, using integrating by parts formula for the last above integrals, we have

$$\begin{aligned} & \left[\int_0^{1-\alpha} (\alpha\lambda - t) f'(tb + (1 - t)a) dt + \int_{1-\alpha}^1 [(1 - \lambda(1 - \alpha)) - t] f'(tb + (1 - t)a) dt \right] \\ &= \left[-\frac{\lambda[\alpha f(a) + (1 - \alpha) f(b)]}{b - a} - \frac{(1 - \lambda)[f(\alpha a + (1 - \alpha) b)]}{b - a} + \frac{1}{(b - a)^2} \int_a^b f(x) dx \right]. \end{aligned}$$

Thus

$$I = \frac{(1 - 2\lambda(1 - \alpha))f'(b) - (1 - \alpha)2(1 - \lambda)f'(\alpha a + (1 - \alpha)b)}{b - a} - \frac{2}{b - a} \left[-\frac{\lambda[\alpha f(a) + (1 - \alpha)f(b)]}{b - a} - \frac{(1 - \lambda)[f(\alpha a + (1 - \alpha)b)]}{b - a} + \frac{1}{(b - a)^2} \int_a^b f(x) dx \right],$$

multiplying I with $\frac{(b-a)^2}{2}$ we get following result, i.e

$$\frac{(b-a)^2}{2} I = \lambda[\alpha f(a) + (1 - \alpha)f(b)] + (1 - \lambda)[f(\alpha a + (1 - \alpha)b)] - (b-a) \left[\left(\lambda(1 - \alpha) - \frac{1}{2} \right) f'(b) + (1 - \alpha)(1 - \lambda)f'(\alpha a + (1 - \alpha)b) \right] - \frac{1}{b-a} \int_a^b f(x) dx$$

which completes the proof. \square

Remark 1. Taking $\alpha = \frac{1}{2}$, $\lambda = 1$ and changing variables with $x = (tb + (1 - t)a)$ in Lemma 2, inequality 5 becomes inequality 2.

Theorem 3. $f : I \subseteq R \rightarrow R$ be a twice differentiable mapping on I° such that $f'' \in L[a, b]$, where $a, b \in I$ with $a < b$ and $\alpha, \lambda \in [0, 1]$. If $|f''|^q$ is convex on $[a, b]$, $q \geq 1$ then the following inequality holds;

$$\begin{aligned} & \left| \lambda[\alpha f(a) + (1 - \alpha)f(b)] + (1 - \lambda)[f(\alpha a + (1 - \alpha)b)] - (b - a) \right. \\ & \quad \times \left[\left(\lambda(1 - \alpha) - \frac{1}{2} \right) f'(b) + (1 - \alpha)(1 - \lambda)f'(\alpha a + (1 - \alpha)b) \right] \\ & \quad \left. - \frac{1}{b - a} \int_a^b f(x) dx \right| \\ & \leq \frac{(b-a)^2}{2} \\ & \quad \times \begin{cases} \begin{cases} A_1^{1-\frac{1}{q}} (B_1 |f''(b)|^q + B_3 |f''(a)|^q)^{\frac{1}{q}} \\ + A_4^{1-\frac{1}{q}} (C_2 |f''(b)|^q + C_4 |f''(a)|^q)^{\frac{1}{q}} \end{cases}, & \begin{cases} 2\alpha\lambda \leq 1 - \alpha \\ \leq 2(1 - \lambda(1 - \alpha)) \end{cases} \\ \\ \begin{cases} A_1^{1-\frac{1}{q}} (B_1 |f''(b)|^q + B_3 |f''(a)|^q)^{\frac{1}{q}} \\ + A_3^{1-\frac{1}{q}} (C_1 |f''(b)|^q + C_3 |f''(a)|^q)^{\frac{1}{q}} \end{cases}, & \begin{cases} 2\alpha\lambda \leq 2(1 - \lambda(1 - \alpha)) \\ \leq 1 - \alpha \end{cases} \\ \\ \begin{cases} A_2^{1-\frac{1}{q}} (B_2 |f''(b)|^q + B_4 |f''(a)|^q)^{\frac{1}{q}} \\ + A_4^{1-\frac{1}{q}} (C_2 |f''(b)|^q + C_4 |f''(a)|^q)^{\frac{1}{q}} \end{cases}, & \begin{cases} 1 - \alpha \leq 2\alpha\lambda \\ \leq 2(1 - \lambda(1 - \alpha)) \end{cases} \end{cases} \end{aligned} \quad (6)$$

where

$$\begin{aligned} A_1 &= \frac{8}{3}(\alpha\lambda)^3 - (1 - \alpha)^2(\alpha\lambda - \frac{(1 - \alpha)}{3}), \\ A_2 &= (1 - \alpha)^2(\alpha\lambda - \frac{(1 - \alpha)}{3}), \\ A_3 &= \left[\frac{1}{3} - (1 - \lambda(1 - \alpha)) - (1 - \alpha)^2(\frac{(1 - \alpha)}{3} - (1 - \lambda(1 - \alpha))) \right], \end{aligned}$$

$$\begin{aligned}
A_4 &= (1-\alpha)^2 \left[\frac{(1-\alpha)}{3} - (1-\lambda(1-\alpha)) \right] + \left[\frac{1}{3} - (1-\lambda(1-\alpha)) \right] \\
&\quad + \frac{8}{3} [1-\lambda(1-\alpha)]^3, \\
B_1 &= \frac{8}{3} (\alpha\lambda)^4 - (1-\alpha)^3 \left[\frac{2}{3} (\alpha\lambda) - \frac{(1-\alpha)}{4} \right], \\
B_2 &= (1-\alpha)^3 \left[\frac{2}{3} (\alpha\lambda) - \frac{(1-\alpha)}{4} \right], \\
B_3 &= \frac{8}{3} (\alpha\lambda)^3 (1-\lambda\alpha) - (1-\alpha)^2 (\alpha\lambda) + (1-\alpha)^3 \left[\frac{2}{3} (\alpha\lambda) + \frac{1}{3} - \frac{(1-\alpha)}{4} \right], \\
B_4 &= (1-\alpha)^2 (\alpha\lambda) - (1-\alpha)^3 \left[\frac{2}{3} (\alpha\lambda) + \frac{1}{3} - \frac{(1-\alpha)}{4} \right],
\end{aligned}$$

$$\begin{aligned}
C_1 &= \left[\frac{1}{4} - \frac{2}{3} (1-\lambda(1-\alpha)) \right] - (1-\alpha)^3 \left[\frac{(1-\alpha)}{4} - \frac{2(1-\lambda(1-\alpha))}{3} \right], \\
C_2 &= \left[\frac{1}{4} - \frac{2}{3} (1-\lambda(1-\alpha)) \right] + (1-\alpha)^3 \left[\frac{(1-\alpha)}{4} - \frac{2(1-\lambda(1-\alpha))}{3} \right], \\
&\quad + \frac{8(1-\lambda(1-\alpha))^4}{3}, \\
C_3 &= \left[\frac{1}{12} - \frac{(1-\lambda(1-\alpha))}{3} \right] \\
&\quad - (1-\alpha)^2 \left[(1-\alpha) \left(\frac{1}{3} - \frac{(1-\alpha)}{4} \right) - (1-\lambda(1-\alpha)) \left(1 - \frac{2(1-\alpha)}{3} \right) \right], \\
C_4 &= (1-\alpha)^3 \left(\frac{1}{3} - \frac{(1-\alpha)}{4} \right) - (1-\alpha)^2 (1-\lambda(1-\alpha)) \left(1 - \frac{2(1-\alpha)}{3} \right), \\
&\quad + \frac{8}{3} (1-\lambda(1-\alpha))^3 \lambda(1-\alpha) + \left[\frac{1}{12} - \frac{(1-\lambda(1-\alpha))}{3} \right].
\end{aligned}$$

Proof. Using Lemma 2 and well known power mean inequality, we have;

$$\begin{aligned}
&\lambda[\alpha f(a) + (1-\alpha)f(b)] + (1-\lambda)[f(\alpha a + (1-\alpha)(b))] \\
&- (b-a) \left[f'(b) \left(\lambda(1-\alpha) - \frac{1}{2} \right) + (1-\alpha)(1-\lambda) f'(\alpha a + (1-\alpha)b) \right] \\
&- \frac{1}{b-a} \int_a^b f(x) dx \\
\leq &\frac{(b-a)^2}{2} \\
&\times \begin{cases} \left(\int_0^{1-\alpha} t |2\alpha\lambda - t| dt \right)^{1-\frac{1}{q}} \\ \quad \times \left(\int_0^{1-\alpha} t |2\alpha\lambda - t| \cdot |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \\ \quad + \left(\int_{1-\alpha}^1 t |2(1-\lambda(1-\alpha)) - t| dt \right)^{1-\frac{1}{q}} \\ \quad \times \left(\int_{1-\alpha}^1 t |2(1-\lambda(1-\alpha)) - t| |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \end{cases}
\end{aligned} \tag{7}$$

Since $|f''|^q$ is convex on $[a, b]$;

$$|f''(tb + (1-t)a)|^q \leq t|f''(b)|^q + (1-t)|f''(a)|^q$$

holds for $t \in [0, 1]$. Hence by simple computation we get;

$$\int_0^{1-\alpha} t|(2\alpha\lambda - t)| dt = \begin{cases} A_1, & 2\alpha\lambda \leq 1 - \alpha \\ A_2, & 2\alpha\lambda \geq 1 - \alpha \end{cases}. \quad (8)$$

So we note that,

$$\int_{1-\alpha}^1 t|2(1 - \lambda(1 - \alpha)) - t| dt = \begin{cases} A_3, & 2(1 - \lambda(1 - \alpha)) \leq 1 - \alpha \\ A_4, & 2(1 - \lambda(1 - \alpha)) \geq 1 - \alpha \end{cases}, \quad (9)$$

$$\begin{aligned} & \int_0^{1-\alpha} t|(2\alpha\lambda - t)| \cdot |f''(tb + (1-t)a)|^q dt & (10) \\ & \leq \int_0^{1-\alpha} t|(2\alpha\lambda - t)| \cdot [t|f''(b)|^q + (1-t)|f''(a)|^q] dt \\ & = \begin{cases} B_1|f''(b)|^q + B_3|f''(a)|^q, & 2\alpha\lambda \leq 1 - \alpha \\ B_2|f''(b)|^q + B_4|f''(a)|^q, & 2\alpha\lambda \geq 1 - \alpha \end{cases} \end{aligned}$$

and

$$\begin{aligned} & \int_{1-\alpha}^1 t|2(1 - \lambda(1 - \alpha)) - t| |f''(tb + (1-t)a)|^q dt & (11) \\ & \leq \int_{1-\alpha}^1 t|2(1 - \lambda(1 - \alpha)) - t| \cdot [t|f''(b)|^q + (1-t)|f''(a)|^q] dt \\ & = \begin{cases} C_1|f''(b)|^q + C_3|f''(a)|^q, & 2(1 - \lambda(1 - \alpha)) \leq 1 - \alpha \\ C_2|f''(b)|^q + C_4|f''(a)|^q, & 2(1 - \lambda(1 - \alpha)) \geq 1 - \alpha \end{cases}. \end{aligned}$$

Combining (8)-(11) in (7) we obtain the inequality (6). This complete the proof. \square

Remark 2. If we choose $\alpha = \frac{1}{2}$ and $\lambda = 1$ in Theorem 3, inequality (6) becomes inequality (4) and also if we choose $q = 1$ we get the Trapezoid inequality which is the same as proposition 1.

Theorem 4. $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a twice differentiable mapping on I° such that $f'' \in L[a, b]$, where $a, b \in I$ with $a < b$ and $\alpha, \lambda \in [0, 1]$. If $|f''|^q$ is convex on $[a, b]$, $q > 1$ then the following inequality holds:

$$\begin{aligned} & \left| \lambda[\alpha f(a) + (1 - \alpha)f(b)] + (1 - \lambda)[f(\alpha a + (1 - \alpha)b)] \right. & (12) \\ & \left. - (b - a) \left[\left(\lambda(1 - \alpha) - \frac{1}{2} \right) f'(b) + (1 - \alpha)(1 - \lambda) f'(\alpha a + (1 - \alpha)b) \right] \right. \\ & \left. - \frac{1}{b - a} \int_a^b f(x) dx \right| \\ & \leq \frac{(b - a)^2}{2} \left(\frac{1}{2p + 1} \right)^{\frac{1}{p}} \\ & \quad \times \begin{cases} (1 - \alpha)^{\frac{1}{q}} E_1^{\frac{1}{p}} D_1^{\frac{1}{q}} + \alpha^{\frac{1}{q}} F_2^{\frac{1}{p}} D_2^{\frac{1}{q}}, & 2\alpha\lambda \leq 1 - \alpha \leq 2(1 - \lambda(1 - \alpha)) \\ (1 - \alpha)^{\frac{1}{q}} E_1^{\frac{1}{p}} D_1^{\frac{1}{q}} + \alpha^{\frac{1}{q}} F_1^{\frac{1}{p}} D_2^{\frac{1}{q}}, & 2\alpha\lambda \leq 2(1 - \lambda(1 - \alpha)) \leq 1 - \alpha \\ (1 - \alpha)^{\frac{1}{q}} E_2^{\frac{1}{p}} D_1^{\frac{1}{q}} + \alpha^{\frac{1}{q}} F_2^{\frac{1}{p}} D_2^{\frac{1}{q}}, & 1 - \alpha \leq 2\alpha\lambda \leq 2(1 - \lambda(1 - \alpha)) \end{cases} \end{aligned}$$

where

$$\begin{aligned}
E_1 &= \left[(4p+1)(\alpha\lambda)^{2p+1} \right] + (1-\alpha-\alpha\lambda)^{2p+1} \\
E_2 &= \left[(2p+1)(1-\alpha)(\alpha\lambda)^{2p} \right] \\
F_1 &= \left[(\lambda(1-\alpha))^{2p+1} + (\lambda(1-\alpha)-)^{2p+1} \right] \\
F_2 &= \left\{ [(4p+1) - (1-\alpha)[(2p+1)(2\lambda+1) - \lambda]] (1-\lambda(1-\alpha))^{2p} + (\lambda(1-\alpha))^{2p+1} \right\} \\
D_1 &= \frac{|f''(\alpha a + (1-\alpha)b)|^q + |f''(a)|^q}{2} \\
D_2 &= \frac{|f''(\alpha a + (1-\alpha)b)|^q + |f''(b)|^q}{2}
\end{aligned}$$

and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. From Lemma 2 and by Hölder's inequality we have

$$\begin{aligned}
& \left| \lambda[\alpha f(a) + (1-\alpha)f(b)] + (1-\lambda)[f(\alpha a + (1-\alpha)b)] \right. \\
& \quad \left. - (b-a) \left[\left(\lambda(1-\alpha) - \frac{1}{2} \right) f'(b) + (1-\alpha)(1-\lambda)f'(\alpha a + (1-\alpha)b) \right] \right. \\
& \quad \left. - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
& \leq \frac{(b-a)^2}{2} \left[\int_0^{1-\alpha} |t(2\alpha\lambda - t)| |f''(tb + (1-t)a)| dt \right. \\
& \quad \left. + \int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]| |f''(tb + (1-t)a)| dt \right] \\
& \leq \frac{(b-a)^2}{2} \left[\left(\int_0^{1-\alpha} |t(2\alpha\lambda - t)|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1-\alpha} |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \right. \\
& \quad \left. + \left(\int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]|^p dt \right)^{\frac{1}{p}} \left(\int_{1-\alpha}^1 |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \right].
\end{aligned} \tag{13}$$

Since $|f''|^q$ is convex on $[a, b]$ for $\alpha, \lambda \in (0, 1)$ by the inequality (1)

$$\begin{aligned}
& \int_0^{1-\alpha} |f''(tb + (1-t)a)|^q dt \\
& = (1-\alpha) \left(\frac{1}{(1-\alpha)(b-a)} \int_a^{\alpha a + (1-\alpha)b} |f''(x)|^q dx \right) \\
& \leq (1-\alpha) \frac{|f''(\alpha a + (1-\alpha)b)|^q + |f''(a)|^q}{2}
\end{aligned} \tag{14}$$

and

$$\begin{aligned} & \int_{1-\alpha}^1 |f''(tb + (1-t)a)|^q dt \\ & \leq \alpha \left[\frac{1}{\alpha(b-a)} \int_{\alpha a + (1-\alpha)b}^b |f''(x)|^q dx \right] \\ & \leq \alpha \frac{|f''(\alpha a + (1-\alpha)b)|^q + |f''(b)|^q}{2}. \end{aligned} \quad (15)$$

Note that, $xy \leq \left(\frac{x+y}{2}\right)^2$ for all $x, y > 0$. By simple computation

$$\begin{aligned} & \int_0^{1-\alpha} |t(2\alpha\lambda - t)|^p dt \\ & \leq \frac{1}{2p+1} \begin{cases} \left\{ (4p+1)(\alpha\lambda)^{2p+1} + (1-\alpha-\alpha\lambda)^{2p+1}, & 2\alpha\lambda \leq 1-\alpha \\ \left\{ (2p+1)(1-\alpha)(\alpha\lambda)^{2p}, & 2\alpha\lambda \geq 1-\alpha \right\} \right. \end{cases}, \end{aligned} \quad (16)$$

and

$$\begin{aligned} & \int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]|^p dt = \frac{1}{2p+1} \\ & \times \begin{cases} \left\{ (\lambda(1-\alpha))^{2p+1} - [\lambda(1-\alpha) - \alpha]^{2p+1}, & 2(1-\lambda(1-\alpha)) \leq 1-\alpha \\ \left\{ [(4p+1) - (1-\alpha)[(2p+1)(2\lambda+1) - \lambda]] \right. \\ \left. \times (1-\lambda(1-\alpha))^{2p} \right. \\ \left. + (\lambda(1-\alpha))^{2p+1} \right\}, & 2(1-\lambda(1-\alpha)) \geq 1-\alpha \end{cases}. \end{aligned} \quad (17)$$

Thus using (14) – (17) in (13) we obtain the inequality(12). This complete the proof. \square

Theorem 5. $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a twice differentiable mapping on I° such that $f'' \in L[a, b]$, where $a, b \in I$ with $a < b$ and $\alpha, \lambda \in [0, 1]$. If $|f''|^q$ is convex on $[a, b]$, $q > 1$, then the following inequality holds;

$$\begin{aligned} & \left| \lambda[\alpha f(a) + (1-\alpha)f(b)] + (1-\lambda)f(\alpha a + (1-\alpha)b) \right. \\ & \left. - (b-a) \left[\left(\lambda(1-\alpha) - \frac{1}{2} \right) f'(b) + (1-\alpha)(1-\lambda)f'(\alpha a + (1-\alpha)b) \right] \right. \\ & \left. - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq \frac{(b-a)^2}{2} \left(\frac{1}{2p+1} \right)^{\frac{1}{p}} \\ & \times \begin{cases} \left\{ E_1^{\frac{1}{p}}(D_1^*)^{\frac{1}{q}} + F_2^{\frac{1}{p}}(D_2^*)^{\frac{1}{q}}, & 2\alpha\lambda \leq 1-\alpha \leq 2(1-\lambda(1-\alpha)), \\ E_1^{\frac{1}{p}}D_1^{\frac{1}{q}} + F_1^{\frac{1}{p}}D_2^{\frac{1}{q}}, & 2\alpha\lambda \leq 2(1-\lambda(1-\alpha)) \leq 1-\alpha, \\ E_2^{\frac{1}{p}}D_1^{\frac{1}{q}} + F_2^{\frac{1}{p}}D_2^{\frac{1}{q}}, & 1-\alpha \leq 2\alpha\lambda \leq 2(1-\lambda(1-\alpha)), \end{cases} \end{aligned} \quad (18)$$

where

$$\begin{aligned} D_1^* &= \frac{(1-\alpha)^2 |f''(b)|^q + (1-\alpha^2) |f''(a)|^q}{2}, \\ D_2^* &= \frac{\alpha(2-\alpha) |f''(b)|^q + \alpha^2 |f''(a)|^q}{2}. \end{aligned}$$

E_1, E_2, F_1, F_2 are the same as Theorem 4 and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. From Lemma 2 and Hölder's inequality, we have:

$$\begin{aligned}
 & \left| \lambda [\alpha f(a) + (1-\alpha)f(b)] + (1-\lambda)[f(\alpha a + (1-\alpha)b)] \right. \\
 & \quad \left. - (b-a) \left[\left(\lambda(1-\alpha) - \frac{1}{2} \right) f'(b) + (1-\alpha)(1-\lambda)f'(\alpha a + (1-\alpha)b) \right] \right. \\
 & \quad \left. - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
 \leq & \frac{(b-a)^2}{2} \left[\left(\int_0^{1-\alpha} |t(2\alpha\lambda - t)|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1-\alpha} |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \right. \\
 & \quad \left. + \left(\int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]|^p dt \right)^{\frac{1}{p}} \left(\int_{1-\alpha}^1 |f''(tb + (1-t)a)|^q dt \right)^{\frac{1}{q}} \right] \\
 \leq & \frac{(b-a)^2}{2} \left[\left(\int_0^{1-\alpha} |t(2\alpha\lambda - t)|^p dt \right)^{\frac{1}{p}} \left(\int_0^{1-\alpha} t|f''(b)|^q + (1-t)|f''(a)|^q dt \right)^{\frac{1}{q}} \right. \\
 & \quad \left. + \left(\int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]|^p dt \right)^{\frac{1}{p}} \left(\int_{1-\alpha}^1 t|f''(b)|^q + (1-t)|f''(a)|^q dt \right)^{\frac{1}{q}} \right].
 \end{aligned} \tag{19}$$

Since $|f''|^q$ is convex on $[a, b]$;

$$|f''(tb + (1-t)a)|^q \leq t|f''(b)|^q + (1-t)|f''(a)|^q \tag{20}$$

holds for $t \in [0, 1]$

Integrating the inequality above (20) on $[0, 1]$;

$$\begin{aligned}
 \int_0^{1-\alpha} |f''(tb + (1-t)a)|^q dt & \leq \int_0^{1-\alpha} t|f''(b)|^q dt + \int_0^{1-\alpha} (1-t)|f''(a)|^q dt \\
 & = \frac{(1-\alpha)^2 |f''(b)|^q + (1-\alpha^2) |f''(a)|^q}{2}; \\
 \int_{1-\alpha}^1 |f''(tb + (1-t)a)|^q dt & \leq \int_{1-\alpha}^1 t|f''(b)|^q dt + \int_{1-\alpha}^1 (1-t)|f''(a)|^q dt \\
 & = \frac{\alpha(2-\alpha) |f''(b)|^q + \alpha^2 |f''(a)|^q}{2}.
 \end{aligned} \tag{21}$$

The integrals

$$\int_0^{1-\alpha} |t(2\alpha\lambda - t)|^p dt \text{ and } \int_{1-\alpha}^1 |t[2(1-\lambda(1-\alpha)) - t]|^p dt$$

calculated before as (16), (17) in Theorem 4. Thus using (20), (21) and (16), (17) in the inequality (19) we obtain the inequality (18). This completes the proof. \square

REFERENCES

- [1] Alomari, M.W. and Darus, M., *On the Hadamard's inequality for log-convex functions on the co-ordinates*, Journal of Inequalities and Applications, **2009**, Article ID 283147, 13 pages.
- [2] Alomari, M.W., Darus, M., Kirmaci, U.S., *Some inequalities of Hermite-Hadamard type for s-convex functions*, Acta Math. Sci. **31B** (4) (2011), 1643–1652.
- [3] Azpeitia, A.G., *Convex functions and the Hadamard inequality*, Rev. Colombiana Math., **28** (1994), 7–12.

- [4] Bakula, M.K., Özdemir, M.E., Pečarić, J., *Hadamard type inequalities for m -convex and (α, m) -convex functions*, J. Ineq. Pure and Appl. Math. **9** (4) (2008), Article 96.
- [5] Bakula, M.K. and Pečarić, J., *Note on some Hadamard-type inequalities*, Journal of Inequalities in Pure and Applied Mathematics, **5** (3) (2004), Article 74.
- [6] Dragomir, S.S. and Pearce, C.E.M., *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMIA Monographs, Victoria University, 2000.
- [7] Dragomir, S.S. and Fitzpatrik, S., *The Hadamard's inequality for s -convex functions in the second sense*, Demonstratio Math. **32** (4) (1999), 687–696.
- [8] Gill, P.M., Pearce, C.E.M. and Pečarić, J., *Hadamard's inequality for r -convex functions*, Journal of Mathematical Analysis and Applications, **215** (2) (1997), 461–470.
- [9] Hadamard, J., *Étude sur les propriétés des fonctions entières et en particulier d'une fonction considérée par Riemann*, J. Math. Pures Appl., **58** (1893), 171–215.
- [10] İşcan, İ., *Generalization of different type integral inequalities for s -convex functions via fractional integrals*, Applicable Analysis, **93**(9) (2014), 1846–1862.
- [11] Kirmacı, U.S., Bakula, M.K., Özdemir, M.E., Pečarić, J., *Hadamard-type inequalities for s -convex functions*, Appl. Math. and Comp., **193** (2007), 26–35.
- [12] Özdemir, M.E., Avci, M., and Set, E., *On some inequalities of Hermite-Hadamard type via m -convexity*, Applied Mathematics Letters, **23** 9 (2010), 1065–1070.
- [13] Sarikaya, M.Z., Aktan, N., *On the generalization of some integral inequalities and their applications*, Math. Comput. Modelling **54** (2011) 2175–2182.
- [14] Set, E., Özdemir, M.E., and Dragomir, S.S., *On Hadamard-Type inequalities involving several kinds of convexity*, Journal of Inequalities and Applications, Article ID 286845, 12 pages,
- [15] Shuang, Y., Qi, F., Wang, Y., *Some inequalities of Hermite-Hadamard type for functions whose second derivatives are (α, m) -convex*, J. Nonlinear Sci. Appl., **9** (2016), 139–148.

ORDU UNIVERSITY
 DEPARTMENT OF MATHEMATICS
 ORDU, TURKEY
E-mail address: erhanset@yahoo.com

ORDU UNIVERSITY
 DEPARTMENT OF MATHEMATICS
 ORDU, TURKEY
E-mail address: abdurrahmangozpinar79@gmail.com

GIRESUN UNIVERSITY
 DEPARTMENT OF MATHEMATICS
 GIRESUN, TURKEY
E-mail address: imdati@yahoo.com